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2. th& IYOIH LAOB ¢ 2712 B

O 116° ® 118° @ 121°

42-10—A 2+20°
@ 124 (@) 126 X o) &

(4x - 10°) + (x +20°) = 180° ]| B &
5x=170°, % x = 34° o|t}.
whebA] 4x — 10° = 180° — (x 4+ 20°) = 126° ©]c}.
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5. o2 I"HANA sx:zy:z2=3:5:4L W, zx+ 2y & F2?

@® 100° @ 110° @120° @ 130° ® 140°

4
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/7 80 ><12 60

Lx + 2y = 180° — 60° = 120° o|t}.
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3x+30° m
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B

(3x +30°) + (5x — 10°) = 180° ©]t}.

8x = 160° O] 22 x = 20° o|t}.

T3 y =3x+30° °|BE y = 90° o]t}
wbA] zx + 2y = 20° + 90° = 110° o]t}
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10. o8 a2 A [//m ©]1, /ABP = /PBD,/PDB = (PDC ¥ 0,
[x— Ly+=7

@® 30° @ 40° (3)45° @ 50° ® 55°

B ~

1
/PBD + /PDB = 180° x 3= 90°
/x = 180° — 90° = 90°
1
/QBP + /QDP = 90° x 3= 45°

/QBD + /QDB = 90° + 45° = 135°
£y = 180° — 135° = 45°
o Lx— Ly = 90° — 45° = 45°




